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SECTION - A
i) General Awareness

Tipu Sultan died fighting the English 6. The ratio of pure gold in 18 carat gold is
l::«mesf l.!l':tdler (A) B0% (B) 75%
(&), Lord Comwallis ©) 80% (D) 90%
(B) Lord Wellesly
{C) Lord Dalhousie 7. Major harmiul gas emitled by
(0} Lord Hastings aulomobile vehicles which causes air

pollution s
ThE_l administration of the English East (A} Carbon monoxide
India Company in India came to an
ondin (BY Methane
(A) 1857 (B) 1858 (C) Carbon dioxide
©) 1862 D) 1892 (2) Czone.ges
From the evolutionary point of view, 8. A man with colour biindness will see
which one of the following is closer red as
to-man 7 (A} Yellow (B) Biue
(A) Dolphin (C) Green (D) Voilet
(B) Flying fish
(G} Shark 8. Which of the following is not a foreign
(D) Torloise bank working in India ?

: ) A} HSBC

Which one of the following matals is )
found in *Plaster of Parig” ? (B) Barclays
(A) Calcium (C} Standard chartered
(B) Magnesium (D) Yes Bank .
(C) Potassium
(D) Sodium 10. Commercially, sodium bicarbonate is .

known as __i
From which year did Saka era begin 7 (A} Washing soda s
(A} YEB.C. (B} Baking soda ‘
(B) 7BAD, (C) Bleaching powder 1
(C) 178 AD. (D} Soda ash
By 278 A.D.
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i) | SAERT A

. H 3 o e & @9 % ey e 6. 18R vl GF = SR e e

iﬁ:ﬂ;mm“‘“ (A) BO% (B) 75%

& ﬂi!ialié‘m

() eI (C) BO% (D) 90%

(C) e B HY 7. AT WG ] HEOT BT F % g

(D) Eﬁé%ﬁﬂ{ TﬁHﬁHEﬂ'ﬁ‘ﬁHE‘TﬂTi [
. IS S EieE el wEE v ol f

H 36 9N HEr g By fgs :

(A) 1857 (B) 1858 (C) =T SEHTHIEE

(C) 1862 (D) 1892 (D) EFE
. T g & Fer A8 ww s 8. AWl =l o 1 1 U8 2@

Eicih &

(A) SETHA W) e (B):. e

o pa— (C) (D)

(C) T HEw 9. T 6 & vvm & s s TR A

(D) g0 TR 7
. e e Ui’ F foo d 8 S (A} uH, wm, .

e g A R 7 (B) =HeE

(A) et (C) =g ard

(B) Trifiry ) adE

(C) uiEThRFam

(D) =y 10.  =gmrites vt § @ifemr s 5
. 1o weree fob el @ e d 7 bt

(A) FEg 78 (A) SR T8

(B) ¥4.78 (B) =FEEEE ,

(C) 3.4.178 (€) ==t urEe

(D) %H. 278 (D) HraTus
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Aw

The headquarters af Asian
Development Bank Is located in

(A) Jakarta
(B) Singapore
{C) Bangkok
(D) Manila

Mr. Manohar Lal Khattar was swom
in as the 10" Chief Minister of

(A) Maharashtra

(B) Punjab

(C) Haryana

(D) Jammu and Kashmir

Man Booker Prize 2014 is won by
author Mr. Richard

Flanagan.

(A) Australian
(B) British

(C) Japanese
(D) Indian

In the Miss World 2014 contast held
in London on 14-12-2014. Rolena
Strauss of won the title
“Miss World 2014,

(A} ltaly

(B) South Africa
(C) US.A

(D) Germany

The Vice President of India is elected by
(A} Members of Lok Sabha
{B) Members of Rajya Sabha

(C) Members of both Houses of
Parliameant

(D}  Member of all State Legislature

16.

T

18.

18.
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The names of the four sons of
Mahatma Gandhi are Harilal, Manilal,
Ramdas and

{A) Arun

(B} Tushar

(C) Rajmohan

(D) Devdas

Expansion of PTI is

{(A) Proper Trade Institution
(B) Press Trust of india

(C) People's Trade Industry
(D) Personal Trust of india

How many letters of the English
alphabe!l (capitals) appear same
when looked at in a mirror ?

(&) 9
(B) 10
€ 11
(D) 12

Which one of the following planets
has largest number of satellites or
moons 7

(A) Jupiter

(B) Mars

(C) Saturn

(D) Venus

Which of the following awards is
given by UNESCO to those who
popularise use of science in life ?
(A) Booker Prize

(B) Magsaysay Award

(C) Kalinga Award

(D) Kalidas Samman
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1, ol R ik =1 e A e B

U T QT 2014 F =
ot frard ot 3 e |

(n) smfend

(B) =T

(C) =t

(D) WRHE

Vfoma gEll — 2014 W Raa
14-12-2014 % Tom w1a o srater fama

Hafl - 2014 ferfm EakiGD
W - wi |

() et

(B) =i sl
(C) =mfi=
(D) =i

WRH ¥ IR T IR SR 8
(A) EER e

(B) T B HEE

(C) wEe ¥ el v

(D) wft Tt & Ry Tvee & e
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TR TEHT TEN & SR A o AW R, B,
T, TEE 3
(A) FHET
(B) TR
(C) TFHEA
(D) ZEEm

i, 4, g, (PTI) =1 vl =% B
(A) 9L B LI

(B) I 7w EE

(C) Foentz e

(D) W a2 Hiw g

AT 1 Za mue s Sumen & R
R (ehfirer) Aedt e 4 d 7

(A) 8

(B) 10

cy 11

(D) 12

= 8 3 e me ) i TomE O
TER T

(A) FeEwi

(B) T

) wf

(D) B

a1 e 1 Fem ) A e &

fae UNESCO) gr fms 1 &
m@jﬁﬁ{mﬁmmi?

(A) TR

(B) TR qrET
(C) wfem ToeRm
(0) =iferam e

e

[~ - e

l'i i , ]
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ii) General Intelligence and Reasoning Ability

it X and Y are brothers, Z is the sister
of X, P is the brother of Qand Q 1s
the daughter of ¥, then how is X
relatedto P 7

(A} Brother
{B) Brother-in-law
(C)  Aunl
(D) Uncle
an g 25
402684 A1 2125 B4 Y 144
25 16 a5
(A) 18 (B) 23
(C) 25 (D) 31
2,3,6,11,18, 7
(A) 25 (B) 27
({C) 29 D)y 3

The number of terms betwesn 11 and
100 which are divisible by 7 but not

by 3
(A} 08
(C)y 27

{(B) 09
Q) 28

Among 5 friends, Meena |s taller
than Mesla but as tall as Prema,
Asha is taller than Sapna but not as
tall as Neela. In this group who is the
shortest 7

(A) Meena

(C) Prema

(B) MNeela
(D) Sapna

26. Let a numberwith three digits has lor
its middle digit the sum ol the other
two digits; Then this number is a

muttiple of
(A) 1 (B) 10
{C) 18 (D) 50

Direction (Qs. 27 — 30) : Choose the one
which does not belong to the group of the
othar three.

27,

28.

1.

(A)
\B)
(C)
L)

(A)
(B)
(C)
(D)

{A)
(Bl
(C)
(D)

(A
(B)
(€
(D)

PBKT ; QCLU ; : MDAY ; 7

(A}
(B)
(C)
(D)

Uttarakhand
Meghalaya
Srinagar
Jharkhand

27
a8
125
100

Digcoveary of India
Indian Express
Times of India
Deccan Herald

Eagle
Parral
Snake
Peacock

QCBZ
MKAZ
DECZ
NEBZ
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ii) FTTTa g iEET e wiiehe AT
21. lRXAMYIH AR, ZWXATA | L0 Hts sEATa T T T E
2, PuE Q FiwE B Qi gy v i 34 W B SR T Am R | e e g
8,7 XFPHENAME 7 TV &
oy ik (A) 11 (B) 10
(©) 18 (D) 50
B) & ) i
i W. 278 30 % o Fdw aef dm S agEa
(C) it A A TE TS 5 99 EifE
(D) == 27. (A) FHEETE
(B) T ?
an 2] 25 IIC:I s
M2 6H B8 2125 647 14 :
22, s o 7 (D) =WEs
W e B) 23 28. (A} 27
(B) 8
By M
(C) 25 (D) ©) 125
23. 2,3.6,11,18,7 (D) 100
(A) 25 & 27 29. (A) el s i
) 28 (D) &1 (B) #feu urala
o4, 113100 A 7R v SR ad (<) afmﬁmz&m
T A e (D) A Blee
{A) 08 (B) 09 30, (A} THE
(€) 27 (D) 28 (B)
o = (C) &M
25 viE ERt | s e Hien | 4 2 Sl b
T @ 3 S+ 2 | AR A (D} :
ECiR A it R LI i 31. PBET:QCLU:: MDAY:? E]
0 gEAaEE A e 7 () QCBZ a
(a) (8) e 15 NEAZ
(C) DECZ
© 12 M (D) NEBZ

A 7




% A B, C, D, E, F are sitling in a circle
facing the cantre. C Is sitting
diametrically opposite to D who is the
neighbour of A and F. E is silling
immediaiely to the right of C who is
sitting to the right of B. Who is sitling
sacond to the right of D ?

(A} E

(B} B

(€} ©

o) A

33, It '~ means 'v', ‘x' means ‘=, 'y

means ‘s ' and '; ' means '+,
1656 —-2+18+3="7

(A} 10

(B) 12

(C) 8

(D) 18

34. 18=2=4=5 which alternative
subslitlutes the stars 7

(A) 4= %
(B) — =
(C) .=+
D) =,=-

35, Which of the following words cannot
be formed using the letters of the word
STUMBLE 7

(A} MULE
(B} TUBE
(€} MELT
(D} ABLE

A=
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Directions (Qs, 36and 37): S is shorer than
K but taller than A. M iz the lallest. A iz a
little shorter than K and a little talier than 5.

36. Whois the shortest 7
A} S (B) &
(€} K (D) A
37. |tthey stand in order of their heights,
then who Is in the middle 7
A A (Bl M
(C) S D) K

38. AandB isa married couple. X and ¥
are sisters, X is the sisterof A, How s
Y relatedto B 7

(&) Brother-in-law
{B) Sister-in-law

(C) Mother-in-law
(D) None of these

39. Nithin starts from his house and walks:

200 metres East and then goes North
for B0 metres, then Wes! for 40 metres
and finally South for BO metres and
stops there. How far is he from his
house 7

(A) 100m
(B} 150 m
[C) 160'm
(D) 80m

40. Pick the odd one out
(A} 18—40
(8) 20-50
(C) 22-55
(D) 12-28
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32. A.B,C,D,E, FT8 0% g 1 36+ %a
1 31w sAhigE o E G 7w = el
i p &% wfteE =1 | =7 A R F &
TEr1 | E 9% C 3 i wiie A
2 B Al s d=rd 1D F e
W W WA A E T

l (A) E
(B) B
Gy C
o) A
33, ufy e R, o e - R,
PO B PR RN A e
R, M 16:6-2:1843=7
(A) 10
(B) 12
(C) 8
(D) 16
34, 18 =2=4»5 T Fwea 7 i wE
Guil
(A} #imin
B) - ==
[C) .=+
(0) »,=~—

95, STUMBLE 158 % 181 & ferd |
ST I8 ] AT W g 7

(A) MULE
(B) TUBE
(C) MELT
(D) ABLE
Ai
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w3 TR R smKA TR
A Rad R I MTE TR 3R |ATE K
duam s agmITg

36 TAUSEEAE 7

=

38.

(A) S B) A
(C) K (D) A
afe 37 I S o S e e
e ®, A g wm Em ?
(A) A (B) M
(G S D) K

A 3 B Renfie s | xoafnymma g
XTRARITEAR | YHE B FrwnAmne 7

(&) HTE

(B) wndi/7=

(C) a

(D) T =g =

forfers ar v & e e g g R
T 200 Hier Ferar & 30 i 3w oh 3
g0 oz = B, o givem 1 @1 40
tfter afy a3 § 2iEaw &) 39w 80 die

oo & o adl s wa B s A
g e et gl wd 7

(A) 100 iz
(B) 150 Hi=
(C) 160 HiZ
(D) 80 He

Fos 51 w5F0
(A) 16-40
(B) 20-50
(C) 22-55
(D) 12-28

R |

-

T g

e —

l | .!
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iif) Arithmetical and Numerical Ability

Ja=1.732. f12=7
(A) 6928
(B) 3.464
(C) 4524
0y 5732

It log 2 = 0.2614, log 3 = 0.3521,
log6="7

(A) 0.0820

(B) 0.6135

(C) 1.2614

(D) 1.3521

(12*-8* 1o
202

="

(A) 20
(B) 2

(Cy 10
(D) 12

7 % ol 150 + 250 = 280
(A) 20
B) 30
(C) 25
) 10

-10-

45,

47.

Naveen has to leave office exactly

after 20 minutes o exactly caich a
train which leaves slation al 6.40 pom,
and it is 5.45 p.m. now. How much
time does it take to travel from office
to the station 7

(A) 55 minutes
(B) 1 hour

(C) 35 minutes
(D) 30 minutes

By how much is 11% of 22.2 lass than
10% ol 244 7

(A) 02
B) 0.02

(C) —0.002
(D) 0.00002

Raju deposited Rs. 7,800 in fixed
deposit which will earn him 10%
simple intarest. After every sacond
year he will convert his interest
eamings into deposits. How much will
he get as interest in the fourth year 7
(A) Rs. 1,038

(B) Hs. 780

(C) Rs. 3,432

(D) Rs. 936
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iii) srarrioTe e vE HEe
41. A Jg=1782 8.9 J12=7 45, T = g.40 foum. ) 33 23 & T
(A) 6928 e e 8 He-dir 20 e % e
' firam ® | s s.45 o G
[ e & |90 T8 e e e e
(C) 4.524 T AT
&) e (A) 55 TR N
1'5]!1]3‘[ ]
42. 4R log2=0.26142, log3=0.3521 [?]
B, doge="2 (C) 35 e ['
(A) 0.0820 (D) 30 e
(B) 0.6135
() 12614 46. 22.2F111% T224.4 % 10% & Fem
FE
(D) 1.3521
(A} 0.2
- _{12‘-5%1»:_? £} Bge
J 20x2 (C) —0.002
(A} 20 (D) 0.00002
(B) 2
47, T wE @ ¥ 5, 7,800 s R
L form W 10% ove =ur e e 1
(D) 12 a4 & =g 9% o009 H WE 8 T
oEMERdarrs R (e ad g e
44. 150 + 25091 7 % = 280 =y 1 Badt e faend 7
(A) 20 (A) %. 1,038 |.{
(B) 20 (B) % 780 ..
(€) 25 (C} ¥ 3,432 '
(D) 10 (D) % 938
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How many diagonals can be drawn
in regular polygon with 9 sides 7

(A} 27
(B) 38
(C) 30

(D) None of these

A bag contains 4 red and 3 blue balls.
it two balls are drawn from this bag at
random, what is the probability that
they are of different colour 7

2

(A

= | &

(B)

()

= | en =]

(B)

Naveen travels 6 km to the MNorth.
From there 4 km to the East. From
then 3 km to the South. How far is he
now from his starting point 7

(A) 3km
B) 4km
(C}) Skm
(D) 6km

51,

B3
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124 men take 15 days to finish a work
by working 5 hours a day, how many
men are necessary o finish the same
work in 12 days by working 6 hours a

day 7
(A 25
By 24
(©) 20
(D) 26

f2a=3b,4b=5c.a:c=?
(A) 3:4
(B) 3:5
(C) 15:8

D) 4:3

If the mean of 6, 4, 7, xand 1015 8,
find x.

(A) 12
(B) 13
() 14

(D) 15
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49,

9 el & e Frafim a5 &
el g s wwd £ 7

(A) 27
(B) 36
(C) 30

(D) ' H S T

A A I EE S s A s
e d | afe de s | S e & et e
A, A s aaEaa & ma fe Rm i
HEm 7

(A}

=J | K3

(B)

(C)

St =~ A

(D)

T I it A e e . AR |
a8l @ a5 7d F 37w 4 Teofl, s @ |
a2 9 Zfiw 1 3w 3 6. s g |
v e s g @ el gl md 7

(A) 3T
(B) 4.
(c) st
(D) &fEH.

13

al.

22,
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afz 24 sl T 5 W W R
UF 1 15 faA T H gt 2, #uemn
6 2 W F 7Y 12 & 6 9w
e s A 7

(A) 25
(B) 24
(C) 20

(D) 26

e 2a=3b%,4b=5c®, A a:c ?
(A) 3:4
(B) 3:5
(C) 15:8

(D) 4:3

af g 4,7, x 20wy g R, A x
=1 gFa g ik

(A} 12
(B) 13
©) 14

() 15

e ———

ol =

———




' . lfthe surface area of asphers 5612 o,
find its volume.

(A) 1500 cm?

n
(8) 14?35:::113

1
(C) 1437 2 e

1
D) 1347 - em?

[x-m m]m-n ['},':“_'-I])rl--lﬁr P(Hmm]p-rﬂ -4
(A) 1

(B) 0

C) =

(D) xmne

How much should a man invest in
Rs. 50 shares selling at BRs. 60 o
obtain an annual income of Rs. 900,
if the dividend declared is 15% 7

(A) Rs.7.000
(B) Rs.7.500
(C) Rs.7,100

(D) Rs.7,200

B7.

a8,
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f2sing—Ja, cosg="
(A J2

3
® 7

PA and PB are the tangents drawn to
a circle from an extemal point P. It
PA = AB, find ~APB

(A) S0°
(B) 45°
(C) &0°
(D) 307

fZn=236 findn
(A) B
(8) 8
(C) 8
(D) 10

Find the LCM of

|
@ | =

e | ma

(A)

(B}

(C)

(D)

alg PN Ble wi=
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54, uf%us gaE 7= FER 612 cm?2R, A 57. W 2sing= 3% dlcosg="

FHET T B (A) 2
(A) 1500 cm? (B) é
1 © V3
(B) m?sacmﬂ i
® T .
I
1 .
(C) 143?5‘“"‘3 58. mmpﬁqmqammﬁmn by
| it w2 |7 PA=AB ';

Al =1 T RN
(D) 13-4?1Et:m3 ; Ln

(A) 90
(B) 45°
) - m (C) 60"
55 (Hmuri) .(xmp} [“p-rm] = (D) 30°
(A 1 ;
59, 4R =368 n® e g i
(B) O
o (A) 9
{ ®) 8
o B ) &
oy 10
56, %. 50 3fha g 90 TW A 7. 60 W
|
T 2, 38 9t § o PEm = 25 1
B0, =, =, o U, ®, um, v Fife
& o 9T 15% ST S H 5. 000 2688
| ik AT B T (A) %
{A) % 7,000 (B) % E‘_
|
(B) % 7,500 5 I
©) % 7,100 © 3 s
(D) % 7,200 ) %

Av 15




fador : 617 64 : wuw e 1 Ty vies S

o 659 69 ; 37 Tatramde e e fafam ;

65:

(C) g

(A) TET

I
() R
(C) ¥

86, @A

(A) TRTEA
(C) =
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iv) Test of Language : Hindi
v uitepoy ; Rt

(8) Wi

(D) =i

(B) T

(D) AR

(B) mH
(D) g

(B) =
(D) B4

(B) W
(O} =M

(B) 3
(D) =T

16

67, HEWEM

(A) grwEm (B) FEwEm
(C) 3T (D) 3w

g8, iu
(A) EM
(B) W
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v} Test of Language : English

W often ¢

Directions (Qs. 81 —83) : Read the passage
and answer the question based on it.

When | saw that picture of a coltage on top
of a hill, | was extremaly happy. | was young
then and thought that some day | will also
have a place like thal to live in. Many years
have passed since and the dream-house is
atill far away. In fact it has become rather dull
and faded in the memory. | nevar talked
about it to anybody, because | was afraid
people would laugh at me. Creative writers
should considar themselves lucky if they are
able to get tood, clothes and some kind of
shelter.

81. Thecottage became dull in the author's
memory. The reason beaing that

(A) he was getting old
(B} his sight had become weak

{CY he had started loocking for a
bigger house

(D) he had realised that it was out
of his reach

B2, The author was happy to see the
picture ol a coltage on a hill-top
because

(A) it was a lovely sight

{(B) it reminded him of his early
childhood days

{C) he had spent sometime In such
cottages in his past lifte

(D) hewished to own such a cottage

83. Why was the author not able to own
B cotlags 7

(A) he had no money 1o be able to
buy one

(B} no such collage was available

(C) such cottages are sean only in
pictures

(D) they are located too far away
from towns

Direction (Qs. 84 — B6) : You are required
to rearrange the parts labelled P, G, R and
S to produce the correct sentence. Choose

tha correct sequence.
B4. |have
P: any fragrance
G: and more penetrating
H: never come across
S: thatis more beautiful
(4) PQRS {B) SRQP
{C} RQPS (B} RPSQ

B85. P: come to have a look al the girl
G : the party that had
R : his eldest sister and a lawyer

friend of theirs
S . consisted of the boy's parents
(A) QSPR (B) QPSH
(C} QRSP (D) QRPS

86. P:the postman
Q : brings latters
A : refatives and friends
S : from far off
(A) PQRS
(C) RSPQ

(B) PQSA
(D) PRQS
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Direction ; (Qs. 87 —89) : Identify the error
if any in (A}, (B), {C) part of the sentence. If
there is no arror, your answer is {D).

87. He ought not have (A} / done such a (B)/
filthy thing (C). / No ermor (D)

B8. He could succeed (A} /incatching the
ball (B) / before it reaches the
boundary line (C). / No emor (D)

89, Neveronce (A)/| have seen (B)/such
a beautiful sight (C). / No error (D)

Direction (Qs. 90 and 81) : Choose the
word which is nearest in meaning to the
given word,

80, NOVICE
(A) lavish (B} beginner
(C) close (D} meagre

91. ACQUITTED
(A) sentenced (BY punished
(C) freed (D) convicted

Direction {Qs. 92 and 93) : Choose the
word which s most opposite in meaning
to the given word,

a2, BROAD
(A) wide (B} streiched
(C) dirty (D) narrow
93. PROMOTE
(4) discourage {B) aid
(C) elevate (D) raise

A*
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Direction (Qs. 94— 96) ; Fill in the blanks
with appropriate alternative.

94. Anexhibition_ the new trends
in lighting was held in Bangalore.

{A) on (B) of
(C} into (D) for

A

85, No doubt he has achieved much, but
| cannot give him cradit for all thal he
boasts ___ Ir
(A) for (B) of pr
(C) to (D) with

- ——

86. Many areas of the city were
into darkness for several hours,

(A) spread (B) merged

(C} plunged (D) deep
87. Past participle of "steal” is

(A) slole (B) stolen

(C)} stolan (D) steel

98. "He is speaking”.
The lense of the verb in the above
sanlence is

(A} present indefinite
(B) present parfect

(C) present continuous
(D) past perfect

g8, Mame of the kind of gender of "desk’ is
(A) Neuter gender n
(B) Masculine gender M
(C) Femining gender +
(D) Common gender ;]

100. Plural of "ox" is
(A) oxes (B) ox
(C) oxen (D) oxus

18
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101,

102.

103.

SECTION - B
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Post Specific Subject-Related Questions

What does “pharmacokinetics”

include 7

(A) Pharmacological effects of drugs

(B) Unwanled effects of drugs

(C) Chemical structure of a medicinal
agent

(D) Distribution of drugs in the
organism

Pharmacodynamics involves the

study of following

(A) Meachanisms of drug action

(B) Biotransformation of drugs in the
organism

(C) Distribution of drugs in the
organism

(D) Execretion of drug from the
organism

What does the term “bicavailability”

mean 7

(A} Plasma protein binding degree
of substance

(B} Parmeability through the brain-
blogd barrier

(C) Fraction of an uncharged drug
reaching the systemic circulation

(D) Amount of a substance in urine
ralative to the initial dose

104,

103.

106.

What is the important charactenstic of

the intramuscular route of drug

administration ?

(A) Only water solutions can be
injected

(B) Oily solutions can be injected

(C) Opportunity of hypertonic
solution injections

(D) The action develops slower,
than at oral administration

Elimination rate constant (Kefim) is
defined by the following parameter
(A) Rate of absorption

(B) Maximal concentration of a
substance in plasma

(C) Highest single dose
(D) Hail life (1)

"Affinity” is a measure of

(A) Drug’'s binding to plasma
protains

(B) Drug's binding 1o a receptor

(C) Inhibiting potency of a drug

(D) Bioavailability of a drug
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107.

109,

110,

B

What term is used to describe a mora
gradual decrease in responsiveness
lo a drug, laking days or weeks 10
develop ?

(A) Refractoriness

(B) Cumulative effect

(C) Tolerance

(D) Tachyphylaxis

Characteristic unwanted reaction
which isn't related to a dose or to a

pharmacodynamic property of a drug.

is called

(A) ldiosyncrasy

(B) Hypersensitivity
(C) Tolarance

(D) Teratogenic action

Which one of the following groups is
responsible for the duration of the
lacal anesthetic action 7

{A) Intermediate chain
(B) Lipophylic group
(C) lonizable group
(D) Al of the above

Indicate the local anesthetic, which is
used for spinal anesthesia

(A) Tetracaine
(B) Coecaine

(C) Dibucaine
(D) Bupivacaine

L

112

113.

114.

JDD-1/PHARM./X-15

Which of the flollowing local
anesthelics is called a universal
anesthetic 7

{A) Procaine
(B} Ropivacaine
{C) Lidocaine
(D) Etidocaine

Indicata a reversible cholinesterase
inhibitor

(A} Isofiurophate
(B) Carbochol

(C) Physostigmine
(D) Parathion

Parasympathomimetic drugs cause
(A} Bronchodilation

(B) Mydriasis

(C) Bradycardia

(D) Constipation

Which of the following direct-acting
cholinomimetics has the shortest
duration of action 7

(A)  Acetyicholine
(B] Methacholine
(C) Carbachol

(D) Bethanechol
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1186,

117

118.

Indicate the skeletal muscle relaxant,
which is a depolarizing agent

(A)
(B)
(C)
(D}

Vencuronium
Scopolaming
Succinylcholine

Hexamathonium

Atropine is frequently used prior to
administration of Inhalant anesthatics
to reduce

(A)
(B)
(C)
(D)

Muscle tone
Secretions

MNausea and vomiling
Appetite

Which of the following drugs is useful
in the treatment of Parkinson's
disease 7

LA
(B
ic)
D)

Benztropine
Edrophonium
Succinyicholine

Hexamethonium

Which of the following agents is used
as an inhalation drug in asthma 7

L&)
(B)
(C)
(2

Atrapine

ipratropium
Lobelins
Homatroping

120.

121.

(A)

1<
(D)

122,

(C)
(2
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119. Which is effective in the treatmeant of
mushroom paisoning 7

(A)
B}
(C)
(D)

Pralidoxime
Pilocarpine
MNeostigmine
Atroping

Indicate muscles, which are more
rasistant o block and recover mora

rapidly
(A)
(B]
()
(B)

Hand

Leg

Neck
Diaphragm

Which of the following drugs causes

bronchodilation without significant
cardiac stimulation 7

|soprenaling

(B) Terbutaline
Xylometazoline

Methoxaming

Indicate the sympathomimetic agent,
which is combined with a local
anesthetic 1o prolong the duration of
infiltration nerve block

(A) Epinephrine
(B) Xylometazoline
Isoproteranc
Dobutamine
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123.

124,

125.

126.

Indicate the agent of choice in the

emergency therapy of anaphylactic

shock

{A) Methoxamine
(B) Terbutaline

(C) Morepinephring
(D) Epinephrine

Indicate 1the adrenoraceptor
antagonist drug, which is a rauwolfia
alkalod

(A) Prazosin

(B) Propranolol
(C) Reserpine

(D) Phentolamine

Hypnotic drugs are used o treat
(A) Psychosis

(B) Sieep disorders

(C) Narcolepsy

(D} Parkinsonian disorders

Which of the following hypnotics is
preferred in patients with fimited
hepatic function 7

(A) Zolpidem

{B) Amobarbital
(C) Flurozepam
(D) Pentobarbital

127.

128,

128.

130.

JDD-1/PHARM./X-15

Which of the following barbiturates is
an ultra-short-acting drug ?

(A} Secobarbital
(B) Amabarbital
({C) Thiopental
(D} Phenobarbital

Tha maost effective drug for stopping
generalized tonie-clonic, stalus
epilepticus in adults is

(A) Lamatrigine
(B) Ethosuximide
(C) Diazepam
(D) Zonisamide

The most dangerous effect of
anliseizure drugs atter large
overdoses is

(A) Respiratory depression
(B} Gastrointestinal irritalion
(C) Alopecia

(D) Sedation

Which of the following
neuratransmitters. is involved in
Parkinson's disease 7

(A} Acetylcholine
(B) Glutamate

(C) Dopaming
(D) Al of the above
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131.

132.

133.

134,

indicate the drug thal induces
Parkinsonian syndromes

(A) Chlorpromazine

(B) Diazepam

(C)
(D) Carbamazepine

Triazolam

Which of the following agents is an
inhibitor of aldehyde dehydrogenase 7
(A) Fomepizole

(B) Ethanol

{C) Disulfiram

(D) Maltrexone

The drug which decreases craving for
alcohol or “high” pleasurable effect
that comes with renewed drinking is

{A) Disulfiram
(B) Amphetaming
(C) Naltrexone
(D) Diazepam

The combination of disulliram and
gthanol leads to accumulation of

(A} Formaldehyde
(B) Acetate

{C) Formic acid
(D) Acetaldehyde

135.

136.

137.

138
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Which of the following agenis may be
usad as an antidote lor ethylene
ghycol and methanol poisoning 7

(A) Apomorphine
(B) Fomepizol
(C) Selegilin
(D) Amphetamine

Marcotics analgesics should
(A} Relieve severe pain
(B) Induce loss of sensation

(C) Reduce anxiety and exert a

calming affect
Induce a stupor or somnolent
state

(D)

Which of the following oploid
analgesics is used in obstetric labor 7

(A) Fentanyl

(B) Pentazocine
(C) Meperidine

{D) Buprenorphine

Which of the following opioid
analgesics is used in the treatment of -
acute pulmonary edema 7

(A) Morphine

(B) Codeine

(C) MNaloxone

(D) Loperamide
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140,

141.

142.

A

Which of the following non-narcolic
agents is salicylic acid derivative 7

(A) Phenylbutazone
(B) Ketamine

(C) Aspirin

(D) Tramadol

indicate the non-narcotic analgesic,
which lacks an antl-inflammatory
effect

{A) Naloxone
(B) Paracetamol
(C) Metamizole
(D) Ecospirin

MNeuroleptics are used to treal
(A) Neurosis

(B) Psychosis

{C) Narcolepsy

(D) Parkinsonian disorders

Parkinsonian symptoms and tarditive
dyskinesia are caused by blockade
dopamine in

{A) The nigrostriatal system
(B} The mesolimbic system
(C) The mesofrontal system
(D) The tubercinfundibular system

143.

144,

1 ‘EF

146.

JDD-1/PHARMJX-15

Which of the following anlipsychotic
drugs is typical 7
{A) Clozapine
(B) Quetiapine
(C) Haloperldol
(D) Olanzapine

Lithium carbonate is useful in the
treatment of

(A) Petit mal seizures
(B) Bipolar disorder

(C) Neurosis

(D) Trigeminal neuraigia

Which of the following agents is
refated to tricyclic antidepressants 7

(&) Nefazodon
(B) Amitriptyline
(C) Fluoxetine
(D) Isocarboxazid

The therapeutic response to
antidepressant drugs is usually over
a period of

(A) 2-3days
(B) 2-3 weeks
(C) 24 hours
(D) 2-3 month
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147.

148,

148,

150.

"Crack” is a derivative of
(A) Oplum

(8) LSD

(&) Cocaine

(0 Cannabls

Which of the following agents is
related 1o hallucinogens 7

{(A) Mormphina
(B) LSD
(C} Cocaine
(D) Opium

Which of the following agenis is
relaied to cannabis 7

(A} Heroin
(8) Ecstasy
{C) Hashish
(D) Crack

Indicate the anesthetic, which is used
intravenously

(A} Propofol
{B) Halothane
(C) Desflurane

(D) Nitrous oxide

161.

152.

153.

194,
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Which of the following drugs is
proteoiytic enzyme 7

(A] Potassium lodide

(B) Desoxiribonuclease

(C) Carbocysteine

(D) Acstylcysteine

Indicate the drug belonging to proton
pump inhibitors

{A) Pirenzepine
(B) Ranitidine

(C) Omeprazole
(D) Trimethaphan

Indicate the drug that cause metabalic
alkalosis |

(A) Sodium bicarbonate
(B} Cimetidine

(C) Pepto-Bismol

(D) Carbenoxolone

The mechanism of stimulant

purgatives is

(A) Increasing the volume of non
absorbable solid residua

(B) Increasing motility and secrelior

(C) Altering the mnsl;‘tanni_.r af thi
feces

(D) Increasing the water content
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1587.

158.

Indicate the drug which increases
absorption of iron from intestine

(A} Cyanocobalamin
(B} Folic acid

(C) Ascorbic acid
(D) Erythropoetin

An adverse effect of oral iron therapy Is
(A) Anemia

(B} Thrombocylopenia

(C) Headache

(D) Constipation

Pernicious anamia is developed due
to deficiency of

(A) Erythropoetin
(B) Vitamin B,
(C) lron

(D) Vitamin B,

Pick out the drug belonging to
anticoagulants of direct action

(A) -Aspirin
(B} Haparin
(C) Dicumarol

(D) Phenprocoumaon

159.

160.

161.

162.

JOD-1/PHARM./X-15

Which of tha following drugs belongs
to courmnarin dervatives 7

(A} Clopidogrel
(B} Enoxaparin
(C) Dalteparin
(D)  Warlarin

Which drug is a selective beta-1
agonist 7

(A) Digaxin
{(B) Dobutamine
(C) Amrinone

(D) Dopamine

Drugs most commonly used in
chronic heart failure are

{A) Cardiac glycosides
(B} Diurgtics

(C) Angiotensin-converting enzyme
inhibitors

(D) Al the above

Which drug is a Class Il antiamrhythmic
drug 7

(A} Flecainide

(B) Propranciol

(C) Lidocaine

(D) Verapamil
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163.

164,

185,

166.

Which drug is used in trealing
supraventricular tachycardias 7

(A} Digoxin

(B) Dobutamine
(C} Amrinone
(D) Dopamine

Duration of nitroglycerin action
(sublingual) is

(A) 10-30 minutes

(B) 6-8hours

(C) 3-5minutes

(D) 1.5-2 hours

Which of the following antianginal
agents s a calcium channel blocker 7

(A) Nitroglyeerin
{B) Dipyridamale
(Cy Minoxidil

(D) Nifedipine

This drug reduces blood pressure by
acling on vasomolor centers in the
CNS

(A) Labetalol
(B) Clonidine
(C) Enalapril
(D) Nifedipine

167.

168.

169.

170.

JOD-1/PHARM/X-15

Pick out the drug — an alpha and beta
adrenoreceplors blocker

(A) Labetalol

(B) Verapamil

(C) Nifedipine

(D) Metoprolol

Which drug is a directly acling
vasodilator ?

(A) Labetalol
(B) Clonidine
(C) Enalapril
(D) Nifedipine

Identify the diuretic agent which is
having a potent and rapid effect

(A) Furosemide

(B) Spironolactone

(C) Dichlothiazide

(D)  Indapamide

Choose the positive inotropic drug of
non-glycoside structure

{A) Digitoxin

(B) Digoxin

(C) Dobutamine

(D) Strophanthin
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173

174.

A

Tha following Ergot derivative is used
for treatment of acute migraine attack

(A)
(B) Sumatriptan
{C) Ergotamine
(D)  Metoclopramide

Faracetamal

Select an endocrine drug which is &
steroidal derivative

(A)  Gonadoreiin
(B) Insulin

{C) Levothyroxine
(D) Hydrocortisone

Indications of vasopressin ara
following

(A) Diabetes mellitus

(B) Hypertension

{i:} Pituitary diabetes insipidus
(D) Incompleted abortion

Which of the following hormones is
produced by the thyroid gland 7

(A) Thyroid-stimulating hormone
(B) Thyrotropin-raleasing homone
(C) Triiodothyronine

(D} Thyroglobulin

175.

176.

177

178,

JDD-1/PHARM./X-15

Which of the following oral
hypoglycaamic drugs stimulales both
synthesis and release of insulin from
beta islet calls 7

(A) Glibenclamide
(B)  Phenformin

(€
L)

Butormina
Metformin

Which of the following glucocorticoids
is a long-acting drug ?

(A) Prednisolon

(B) Dexamethasone
(C) Triamcinolone
(D) Al of the above

Which of histamine H1 antagonists is
noted for the serotonin-blocking effect 7
(A) Bromphaniraming

(B) Cyproheptadine

(C) Suprasling

(D) Dimedrol

The indication for interferon alpha
administration is

(A) Hepatitis C virus infection
(B) Kaposi's sarcoma

(C) Condyloma

(D) All of the above
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179. Select a fat-soluble vitamin
(A) Ascorbic acid

iB) Tocopherol

(C) Thiamine

(D} Riboftavin

180. Dermatitis, diarrhoea and dementia

ara characteristics of

(A) Dry beriberi

(B) Pyridoxine deficiency
()
(B)

Scurwvy
Pellagra

181. Loosening of testh, ginglvitis and

hemorrhage occur in the deficiency of
(A) Vitamin K
(B) Vitamin B,
{C)
(D)

Vitamin Bﬁ
Vitamin C

182. Which of the following enzymes has

fibrinolytic activity 7
(A} Pepsin

(B)
()
(D)

Urokinase
L-asparaginase

Lydaze

183

184.

185,

185.

JDD-1/PHARM/X-15

This drug beth inhibits an enzyme
and indirectly enhances clearance ot
low density lipoprotaing (LDL)

(A) Cholestyramine
(B} Lovastatin

(C)
(D)

Mlcotinic acid

Prabucal

Which of the following drugs used in
the treatment of gout has as its primary
affect the reduction of uric acid
synthesis 7

(A}  Allopurinal

(B) Sulfinpyrazone
()
(D)

Colchicina

Indoemethacin

Side effec! of calcitonin is
(A)
(B)
{C)
(D)

Hypercalcemia
Metastatic calcifications
Telany

G toxicity

Recommendad
allowance is

(A) 1.5-4mg

fluoride daily

(B) &00-800 g
(C) 25¢g
350-400 mg

(o)
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187. The drug acts inthe distal convoluted | 191. Choose the drug belonging to

tubule antibiotics-aminoglycosides
(A)  Loop diuretics (A) Erythromygin

(B) Thiazide diuretics (B) Gentamycin

(C) Potassium-sparing diuretics (C) Vancomycin

(D) Carbonic anhydrase inhibitors (D) Polymyxin

188, The drug is usually given in | 192, Which of the following drugs is used

combination with a thiazide diuretic for candidiasis treatment 7
(A) Acetazolamide (Diamox) (A) Griseofulvin
(B) Furosemide (Lasix) (B) Nitrofungin
(C) Hydrochlorothiazide (Hydrodiuril) (C) Myconazol
(D)  Amiloride (Midamor) (D) Streptomycin

189. Identify the drug belonging to | 183. Mechanism of Sireplomyein action is

antibiotics-tetracyclines through Inhibition of

(A) Doxycycling (A) Cell wall synthesis.

(B) Streptomycin (B) Protein synthesis

(C) Clarithromycin (C) RNA and DNA synthesis
D) Amoxacillin (D) Tl mermbmpes mw

120. Antibiotic inhibiting bacterial RNA | y94 The drug of choice for syphilis

synthesis is treatment is

(A)  Erythromycin (A) Gentamycin
(B) Rifampin (B) Penicillin

(C) Chioramphenicol (C) Chioramphenicol
(D) Imipinem

(D) Doxycycline
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185

186.

1897,

Te drug used for malaria
chemoprophylaxis and treatment

(A) Chloroguine
(8] Quinidine
(C) Quinine

(D) Sulfonamides

Choose the drug used for amoebiasis
traatment

(A)  Nitrofurantoin
(B) lodoquingl
({C) Pyrazinamide

(D) Melloguine

The drug, inhibiting viral DNA
synthesis

(A) Intarteron
(B) Saquinavir
{C} Amantadine

(D}  Acyclovir

198.

189,

200.

JDD-1/PHARM./X-15

The drug used for Influenza A

prevention

(A)  Acyclovir
(B8] Rimantadine
(C) Saguinavir

(D) Foscarmet

Choose the aﬁtlﬂnmir drug, a

pyrimidine antagonist.
(A) Fluorcuracil
(B) Mercaptopuring
(C} Thioguanine

(D) Methotrexate

Enzyme drug used for acute leukemia
treatment

(A} Dihydrololate reductase

(B) Asparaginase

(C) Aromatase

(D) DNA gyrase
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